ERR24AFEE WMEREREXS
R BMKIEHELY A7 2 D%
OXKE fHmiE*x0, ®miE H*2 FH)n Mk

1. I

[} =3 P USB/GP-IB GP-1B 182
BB OBEERRZEMNELERT S 7 {¥9=72-2 -
DI GO — ) F o EE L — P———y | ERRACRE
WEHES (#: Fluke $500A, Fluke $700A)
o TV B o T S B B 3 T U i , = P
> =3 ' A bl —
BTHhAF YV T L —FBREHRELE LT p— I R4 (F: Fluke 7328) -L'D .
HEnCins. cOF v 7L =7 D Iy ey i1l o | Ky
B (ImALY YD HIAL Y VK vz o]l | | 1 en
20Hz2*510kHz ) D8 IE & AN H» S 5F bl :iiﬂ:g-lnmuu
UGN _ I a—y = T
MiZzHBETHITATLAZHBELIZOT S _J Hutam| zeninsn D’ D,
T %o (RRERE) J (9 s ST Fike 00
2. FEEF B 1. R BRI Y 2T A
RMEIRARIEY AT 2O % M1 12
RY o ZDYATALIZUSBGP-1B £ ¥ — AT g T

Tr—ACXHHBRIEZATLATH %, F7I7EME 575 rERS

_ __&ﬂ G, REN) ] Y N
S OB A 2R % o Lo &_ | =

T s k. wER DMM (74 93 1o+ T A A =F)
S == N > N ~ b= luke B \ - 4 . -
MEBMROKIEIEIF YY) T L =06 vV rwma&) s

MEPLEBOM G IR AETLZREBEREZ I
DMM(FA4 V¥ NIV FA-%) CTHE Avy-

L/\ j~A®?£Eua:lbﬂEbf:O%%Lf: av¥a—y L':n:'f
VXU MEPIEER3IIRT, T2 KU
B 2 LT 5 B O A2 S BN % M et (2. %35 % 7 o 1% IF R

3. MR -EE

¥ x v MRS O IE O R HE AR S 1
1.53ppmTH o7 R BI (Im A, 10m A |
100mABIUTA) . HEE40HzO K IEfED
MEZRICART . ImALSIATTH
A0ppmDILIEATEN S TREAM T E 720 £ 72,
9 20HZzTIX#90ppm. JE W E100HZz L

3. S L7z v 7 MEHAE

#1. ZFER (R 40H2) O IEME & JEERTHED S

1kHZzTIE. 4950ppm. B I0kHZTIX R | %o i B TR e 2 S
150ppm®§}£9§$%ﬁ)é?@ﬁ£{ﬁ%%t&O 1 mA 0.999775 mA (pgén)
720 CNHRINTEBVWTAY LKLY 10 mA | 9.99965 mA 33
bEMEL VIR ER ST, 100 mA | 99.9990 m A 35

1 A 0.999928 A 32
4. Lo

RMEMR(IMA1I0MA.I00mMABITIA) OHERIEBLOARHENSFFM AR Y AT A
DS TE . ZORE %2 P AR R IER B O B MR FIZEHLTW L,

*1) Fitamkfi 2 4 — *2) MTAY v 8 vV R &4
H23.6~H24.3 ZZHE HBWE - AHEA» SRRl A B L > X7 4 O RS (kIR #F5%)



